
S4(4).4 (mod 17)

blocks defect matrix

G : 1 1 17× 16
2 0 681 = χ3,0+, ϕ3,0+

3 0 682 = χ3,1+, ϕ3,1+

4 0 2041 = χ6+, ϕ6+

5 0 1701 = χ10,0+, ϕ10,0+

6 0 1702 = χ10,1+, ϕ10,1+

7 0 1531 = χ12,0, ϕ12,0

blocks defect matrix

8 0 1532 = χ12,1, ϕ12,1

9 0 1533 = χ12,2, ϕ12,2

10 = 8 0 1534 = χ12,3, ϕ12,3

11 0 8161 = χ13+, ϕ13+

12 0 10201 = χ21+, ϕ18+

13 0 6801 = χ26,0+, ϕ22,0+

14 0 6802 = χ26,1+, ϕ22,1+

Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ1,3 ϕ2,0 ϕ2,1 ϕ2,2 ϕ2,3 ϕ5,0 ϕ5,1 ϕ5,2 ϕ5,3 ϕ17,0

11 = χ1,0 1 . . . . . . . . . . . .
12 = χ1,1 . 1 . . . . . . . . . . .
13 = χ1,2 . . 1 . . . . . . . . . .
14 = χ1,3 . . . 1 . . . . . . . . .
181 = χ2,0 . . . . 1 . . . . . . . .
182 = χ2,1 . . . . . 1 . . . . . . .
183 = χ2,2 . . . . . . 1 . . . . . .
184 = χ2,3 . . . . . . . 1 . . . . .
501 = χ5,0 1 . . . . . . . 1 . . . .
502 = χ5,1 . 1 . . . . . . . 1 . . .
503 = χ5,2 . . 1 . . . . . . . 1 . .
504 = χ5,3 . . . 1 . . . . . . . 1 .

9001 = χ17+ . . . . 1 1 1 1 . . . . 1
2561 = χ25,0 . . . . . . . . . . 1 . 1
2562 = χ25,1 . . . . . . . . . . . 1 .
2563 = χ25,2 . . . . . . . . 1 . . . .
2564 = χ25,3 . . . . . . . . . 1 . . .



(Block 1:) ϕ17,1 ϕ17,2 ϕ17,3

11 = χ1,0 . . .
12 = χ1,1 . . .
13 = χ1,2 . . .
14 = χ1,3 . . .

181 = χ2,0 . . .
182 = χ2,1 . . .
183 = χ2,2 . . .
184 = χ2,3 . . .
501 = χ5,0 . . .
502 = χ5,1 . . .
503 = χ5,2 . . .
504 = χ5,3 . . .

9001 = χ17+ 1 1 1
2561 = χ25,0 . . .
2562 = χ25,1 1 . .
2563 = χ25,2 . 1 .
2564 = χ25,3 . . 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ1,3 = 14
ϕ2,0 = 181
ϕ2,1 = 182
ϕ2,2 = 183
ϕ2,3 = 184
ϕ5,0 = 491
ϕ5,1 = 492
ϕ5,2 = 493
ϕ5,3 = 494
ϕ17,0 = 2071
ϕ17,1 = 2072
ϕ17,2 = 2073
ϕ17,3 = 2074


